Řešení
17.3.
	3245m
	4cm8mm

	1056m
	19cm2mm

	842cm
	4m6dm

	1207cm
	6m38cm

	63cm
	9m15cm

	51mm
	2km118m


PS 8/2    




PS 8/3      160.75=12000cm=120m
	423cm
	18cm5mm
	203cm

	805cm
	9m3dm
	5004m

	62cm
	2m67cm
	76cm

	3007m
	7m5dm
	390cm


PS 8/4        



PS 8/5          32 784 : 4 = 8196 m      
PS 8/6         5.80,  6.80, 7.80, ……
	 540 250+100=540 350, 540 350+150=540 500, 540 500+200=540 700, 540 700+250=540 950
[bookmark: _GoBack]	 +111
	-1
	+80  (320-80=240, 320, 320+80=400, 400+80=480, 560, 560+80=640, 720, 800
	-101  (685,786,887,988,1089)
	užovka
	85cm

	chřestýš
	1m5cm=105cm

	zmije
	1m25cm=125cm

	kobra
	2m6dm=268cm


Uč 73/5


Uč 73/6      3470m=3km470m
